The Daily Rigour

Issue No. 112

Sun 29t July 2018

What do you not know about double negatives?

Donald Trump got the world talking about double negatives as he tried to clarify
controversial remarks he made in Helsinki. The US president announced that he had
not meant to say that "I don't see any reason why it would be" Russia who had

interfered in the 2016 US election.

"The sentence should have been", he added, "'why it wouldn't be

Russia’. Sort of a double negative."

France's Kylian Mbappe 'Will donate
World Cup earnings to charity'

Everyone was talking about Kylian Mbappe
when he was on the : :
pitch but now the
World Cup is well
and truly over it
seems everyone is
continuing to talk
about him off the
pitch and this time
it's not for his
football skills but
for his overall generosity as he's giving
his World Cup earnings to a charity.
Mbappe earned £17 000 for each game he
played plus a £265 000 bonus for winning
the tfournament.

As we know, “"double negatives"” can be problematic when solving
numeracy problems! Can you answer all the questions in our
Presidential Double Negative Quiz below correctly? Or sort of!

He played in 3 group games, a last 16 tie, a
quarter final, a semi final and the final itself.

How much did Kylian donate to charity?

1. 6-(4) 2. -7-(2) 3. -3x(-9) 4. -24-(-8)
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